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NEW QUESTION 1
- (Exam Topic 1)
What does the Splunk Common Information Model (CIM) add-on include? (select all that apply)

A. Custom visualizations
B. Pre-configured data models
C. Fields and event category tags
D. Automatic data model acceleration

Answer: AC

NEW QUESTION 2
- (Exam Topic 1)
Which of the following Statements about macros is true? (select all that apply)

A. Arguments are defined at execution time.
B. Arguments are defined when the macro is created.
C. Argument values are used to resolve the search string at execution time.
D. Argument values are used to resolve the search string when the macro is created.

Answer: AC

NEW QUESTION 3
- (Exam Topic 1)
Which of the following eval command function is valid?

A. Int ()
B. Count ( )
C. Print ()
D. Tostring ()

Answer: D

NEW QUESTION 4
- (Exam Topic 1)
Which of the following statements about event types is true? (select all that apply)

A. Event types can be tagged.
B. Event types must include a time range,
C. Event types categorize events based on a search.
D. Event types can be a useful method for capturing and sharing knowledge.

Answer: AC

NEW QUESTION 5
- (Exam Topic 1)
Which of the following statements describe calculated fields? (select all that apply)

A. Calculated fields can be used in the search bar.
B. Calculated fields can be based on an extracted field.
C. Calculated fields can only be applied to host and sourcetype.
D. Calculated fields are shortcuts for performing calculations using the eval command.

Answer: BD

NEW QUESTION 6
- (Exam Topic 1)
Which of the following statements is true, especially in large environments?

A. Use the scats command when you next to group events by two or more fields.
B. The stats command is faster and more efficient than the transaction command
C. The transaction command is faster and more efficient than the stats command.
D. Use the transaction command when you want to see the results of a calculation.

Answer: B

NEW QUESTION 7
- (Exam Topic 1)
Which of the following statements describes the command below (select all that apply) sourcetype-access_combined | transaction JSESSIONID

A. An additional filed named maxspan is created.
B. An additional Held named duration is created.
C. An additional field named eventcount is created.
D. Events with the same JSESSIONID will be grouped together into a single event.

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy SPLK-1002 dumps
https://www.2passeasy.com/dumps/SPLK-1002/ (153 New Questions)

Answer: BCD

NEW QUESTION 8
- (Exam Topic 1)
When multiple event types with different color values are assigned to the same event, what determines the color displayed for the events?

A. Rank
B. Weight
C. Priority
D. Precedence

Answer: C

NEW QUESTION 9
- (Exam Topic 1)
Which of the following statements describe the Common Information Model (QM)? (select all that apply)

A. CIM is a methodology for normalizing data.
B. CIM can correlate data from different sources.
C. The Knowledge Manager uses the CIM to create knowledge objects.
D. CIM is an app that can coexist with other apps on a single Splunk deployment.

Answer: AC

NEW QUESTION 10
- (Exam Topic 1)
Which of the following statements describe GET workflow actions?

A. GET workflow actions must be configured with POST arguments.
B. Configuration of GET workflow actions includes choosing a sourcetype.
C. Label names for GET workflow actions must include a field name surrounded by dollar signs.
D. GET workflow actions can be configured to open the URT link in the current window or in a new window

Answer: D

NEW QUESTION 10
- (Exam Topic 1)
What is the relationship between data models and pivots?

A. Data models provide the datasets for pivots.
B. Pivots and data models have no relationship.
C. Pivots and data models are the same thing.
D. Pivots provide the datasets for data models.

Answer: D

NEW QUESTION 11
- (Exam Topic 1)
Which of the following searches will return events contains a tag name Privileged?

A. Tag= Priv
B. Tag= Priv*
C. Tag= Priv*
D. Tag= Privileged

Answer: D

NEW QUESTION 12
- (Exam Topic 1)
Which of the following actions can the eval command perform?

A. Remove fields from results.
B. Create or replace an existing field.
C. Group transactions by one or more fields.
D. Save SPL commands to be reused in other searches.

Answer: B

NEW QUESTION 16
- (Exam Topic 1)
Based on the macro definition shown below, what is the correct way to execute the macro in a search string?
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A. Convert_sales (euro, €, 79)”
B. Convert_sales (euro, €, .79)
C. Convert_sales ($euro,$€$,s79$
D. Convert_sales ($euro, $€$,S,79$)

Answer: B

NEW QUESTION 18
- (Exam Topic 1)
Which one of the following statements about the search command is true?

A. It does not allow the use of wildcards.
B. It treats field values in a case-sensitive manner.
C. It can only be used at the beginning of the search pipeline.
D. It behaves exactly like search strings before the first pipe.

Answer: C

NEW QUESTION 21
- (Exam Topic 1)
A field alias has been created based on an original field. A search without any transforming commands is then executed in Smart Mode. Which field name appears
in the results?

A. Both will appear in the All Fields list, but only if the alias is specified in the search.
B. Both will appear in the Interesting Fields list, but only if they appear in at least 20 percent of events.
C. The original field only appears in All Fields list and the alias only appears in the Interesting Fields list.
D. The alias only appears in the All Fields list and the original field only appears in the Interesting Fields list.

Answer: B

NEW QUESTION 22
- (Exam Topic 1)
To identify all of the contributing events within a transaction that contains at least one REJECT event, which syntax is correct?

A. Index-main | REJECT trans sessionid
B. Index-main | transaction sessionid | search REJECT
C. Index=main | transaction sessionid | whose transaction=reject
D. Index=main | transaction sessionid | where transaction=reject’’

Answer: D

NEW QUESTION 23
- (Exam Topic 1)
Which of the following are required to create a POST workflow action?

A. Label, URI, search string.
B. XMI attributes, URI, name.
C. Label, URI, post arguments.
D. URI, search string, time range picker.

Answer: B

NEW QUESTION 25
- (Exam Topic 1)
What are the two parts of a root event dataset?

A. Fields and variables.
B. Fields and attributes.
C. Constraints and fields.
D. Constraints and lookups.

Answer: C
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NEW QUESTION 29
- (Exam Topic 1)
A space is an implied _____ in a search string.

A. OR
B. AND
C. ()
D. NOT

Answer: B

NEW QUESTION 34
- (Exam Topic 1)
Which of the following statements describes Search workflow actions?

A. By defaul
B. Search workflow actions will run as a real-time search.
C. Search workflow actions can be configured as scheduled searches,
D. The user can define the time range of the search when created the workflow action.
E. Search workflow actions cannot be configured with a search string that includes the transaction command

Answer: C

NEW QUESTION 39
- (Exam Topic 1)
Which of the following statements describe data model acceleration? (select all that apply)

A. Root events cannot be accelerated.
B. Accelerated data models cannot be edited.
C. Private data models cannot be accelerated.
D. You must have administrative permissions or the accelerate_dacamodel capability to accelerate a data model.

Answer: BCD

NEW QUESTION 44
- (Exam Topic 1)
What functionality does the Splunk Common Information Model (CIM) rely on to normalize fields with different names?

A. Macros.
B. Field aliases.
C. The rename command.
D. CIM does not work with different names for the same field.

Answer: B

NEW QUESTION 49
- (Exam Topic 1)
When using the Field Extractor (FX), which of the following delimiters will work? (select all that apply)

A. Tabs
B. Pipes
C. Colons
D. Spaces

Answer: ABD

NEW QUESTION 50
- (Exam Topic 2)
The eval command 'if' function requires the following three arguments (in order):

A. Boolean expression, result if true, result if false
B. Result if true, result if false, boolean expression
C. Result if false, result if true, boolean expression
D. Boolean expression, result if false, result if true

Answer: A

NEW QUESTION 51
- (Exam Topic 2)
which of the following are valid options with the chart command

A. useother
B. usenull
C. fillfield
D. usefiled
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Answer: AB

NEW QUESTION 56
- (Exam Topic 2)
Which of the following commands will show the maximum bytes?

A. sourcetype=access_* | maximum totals by bytes
B. sourcetype=access_* | avg (bytes)
C. sourcetype=access_* | stats max(bytes)
D. sourcetype=access_* | max(bytes)

Answer: C

NEW QUESTION 57
- (Exam Topic 2)
Which of the following search modes automatically returns all extracted fields in the fields sidebar?

A. Fast
B. Smart
C. Verbose

Answer: C

NEW QUESTION 61
- (Exam Topic 2)
Using the export function, you can export search results as _______.( Select all that apply)

A. Xml
B. Json
C. Html
D. A php file

Answer: AB

NEW QUESTION 65
- (Exam Topic 2)
When using the transaction command, what does the argument maxspan do?

A. Sets the maximum total time between events in a transaction.
B. Sets the maximum length of all events within a transaction.
C. Sets the maximum total time between the earliest and latest events in a transaction.
D. Sets the maximum length that any single event can reach to be included in the transaction.

Answer: B

NEW QUESTION 70
- (Exam Topic 2)
Which of the following statements describes the use of the Filed Extractor (FX)?

A. The Field Extractor automatically extracts all field at search time.
B. The Field Extractor uses PERL to extract field from the raw events.
C. Field extracted using the Extracted persist as knowledge objects.
D. Fields extracted using the Field Extractor do not persist and must be defined for each search.

Answer: C

NEW QUESTION 75
- (Exam Topic 2)
Which is not a comparison operator in Splunk

A. <=
B. =
C. !=
D. >
E. ?=

Answer: E

NEW QUESTION 80
......
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